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(L) Ahistorical and theoretical analysis on the “non-social” activities of Japanese firms
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(#X) A disgraceful affair of a modern corporation comes out from an absence of corporate
social responsibility. Why have some Japanese companies been doing their business without
social mind? On this matter, I have analyzed the factors of Japanese firms’ competitiveness after
the World War I into the outside and inside factors of a company, the former are political,

economical, social and technological ones, the latter are corporate govermamce, corporate

strategy, corporate organization and employment-compensational-HRM practices.
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